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CISC 3110 TY3
Homework #5 – Due April 29, 2011
Change the code you wrote in homework 4 to include a virtual function in class Employee called printWages. Each subclass will now have to include a non-virtual function with that name so that the same outout (see below) is produced. 
However, now you will instantiate the FullTime, PartTime and Executive objects and store them in an array of type Employee. You will then loop through the array and invoke printWages on each Employee object using polymorphism rather than using objects of each of the subclasses.

Output:

Wages for FullTime

Employee name: Nancy Smith

Fulltime annual salary: 20500

Wages for PartTime

Employee name: Frank Jones

Part-time hourly wage: 12.75

Wages for Executive

Employee name: George Bush

Fulltime annual salary: 150000

Executive bonus: 32250

